ACA-025
MINI TILLER

NO | ITEM NO. |PARTS NAME|Q'TY]
1 | BCA391-025 HANDLE 1
2 | BHO02-1902 |GRIP, HANDLE| 2
3 | AET-104P-1271 || EROTILELEVER
4 | BCA397-3060 | SPACER 1
5 | BKI6-0822 | KNOB,LOCK | 2
6 XKW-835 BOLT M8*35L | 6
7 | BCA392-025 | JOINT PIPE 2
8 | BCA396-025 FRAME 1
9 | BCA41-025 STAKE, DRAG | 1
10 | BCA40-025 |COVER, SAFETY| 1
11 | XHW-8R NUT, M8 4
12 | XAW625SPWS | BOLT, M6%25 | 2
13 | XAW630SPWS | BOLT, M6*30 | 4
14 | X-PIN-16MM |BRACKETPIN 16| 2
15 | X-PIN-12MM | BLADE PIN 12 | 2
16 | X-PIN-0840 | PIN, LOCK | 2
17 | BCA37R1-025 | BLADE RI 1
18 | BCA37R2-025 | BLADE R2 1
19 | BCA38LI-025 | BLADE LI 1
20 | BCA38L.2-025 | BLADE L2 1
21 | BK04-7250 | SHAFT,DRIVE| 1
22 ENGINE 1
A | BCA00-025 | GEAR CASE | 1

1

o

TG25-020-ACA

CLUTCH CASE




